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1 INTRODUCTION

The owner of the Czech company SuperMarketa choseyou as a management team, whose taskis to solve problems with
cashflowandto bring his company to long-term profitability. The original management | eft the firm after a year because
it failed toachieve the expected results. You do believe, however, that you will be more successful.

SuperMarketa is a separate medium-sized supermarket with a standard assortment that operates in Ceske Budejovice.
In the firstyear of his operation, the company spent over CZK 79 millionand builta fairly stable position on the market,
but with a significant loss of almost CZK 3.9 million. At the same time, it faces cash flow problems and its liabilities are
rising, which may be very dangerous in the future.

The market where the Supermarket operates is saturated with relatively strong local competition. Three of the most
important competitors inlargechains havetogether more than 50% market share.

1 Source: https://farm4.staticflickr.com/3038/2405706336 88597c8fb7 o d.ipg.
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2 DESCRIPTION OF THE SIMULATION GAME

As managers of your business, you will makethe following decisions for each quarter of your operations:

e Assortment composition - low/ medium / high quality, attracting different segments of customers

e The average mark-up? in % - determines the pricingpolicy,ieitis reflected in profitabilityandsales

e Number of employees - customer service capacity, in the case of long cashier queues customers will be less
likely to come

e Change of employee wages in % - affects employee satisfaction, store capacityand costs
Reliability of deliveries (service level) in % - affects the availability of goods to customers and thus sales, and
also affects the cost of acquiring goods

e Safety stock - none / small /medium/ high, determines the amount of inventory inthe warehouse and thus the
tied funds

e Investments in the appearance of stores - it influences the demand in selected segments, the investment
represents the cost

e The quarterly promotion budget - it influences revenue, is partof costs

You can influence also other business parameters indirectly, ie by negotiating with the game manager. These are in
particular:

e The amount of the loanandthe interest rate

® Increaseof the registered capital by the owner of the company

e The amount of the shareof the profitpaidto the owner

e Other personnel costs - especially the management

Total 20 quarters (5 simulated years) are waiting for you to make your decisions. Your decisions should be thoughtful and
based on thorough economic calculations and planning. Also, consider changingconditions in the external environment
that you should respond to within 5 years - information aboutthese changes will come automatically to you by email.

Inthe followingsection, the causalrelationship between the various elements in your business aregraphically described,
the figure should help you to think about all the essential relationships.

2.1 Operation of the simulated enterprise

The following diagramshows the causal relationships between the basic elements of SuperMarketa's operation.

Arrows indicate causal relationships between factors, "+" indicates the same direction of action (ie, the more one, the
more the other, or the less one, the less the other), "-" indicates the opposite direction of action. E.g. the higher the
markup, the higher the pricelevel, the higher the pricelevel, the lower the demand.

However, some of the effects may be limiting - for example, sales in this case depend on the total demand, inventory and
operational capacity. One of these factors is always limiting, and if the others increase, it will not lead to the overall
increaseinsales.

Underlined arefactors that the management team caninfluencedirectly.

Highlighted in italics are factors thatthe management team caninfluence by negotiation.

2 The mark-upis being used to determine the selling price. Itis a percentage increase ofthe purchase price. E.g. ifwe purchase goods
for CZK 100, with the 50% mark-up the selling price will be set at 150 CZK.
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Generally speaking, profit can be increased by increasing sales through balancing of demand, markup, inventory and
operational capacity or by decreasing fixed cost.
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The simulated supermarket uses the standard layoutof the sales area, whichis seen from the bird's perspective on the
following picture.

On the left there is a blue entry to the shop, the green is marked by the entrance to the sales area, the shelves in yellow
contain the best selling goods (category A, about 20% of the shelf capacity, 80% of the sales), the pink colored shelves
contain medium-about 20% of shelf capacity, 10% of sales), and purple-colored shelves contain least sold goods (category
C, about 60% shelfcapacity, less than 10% of sales).

Besides the sales area, therearealso limited storage spaces, which aremainly used for short-term storage during handling
of goods.

The shop has 4 cashregisters and 150 shopping carts for customer service, the capacity of the car parkis 80 cars. Indoor
spaces do not allowrental to other business entities. The opening hours are twelve hours,from 08:00 to 20:00.
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You will enter the above decisions intheonlinemanagerial simulator environmentcreated in google docs. You will need
a user account on Google to access it - you can create a new one for free (which we recommend) or use existing ones.
The simulator will beavailableto you duringthe semester.

Based on your decisions and the computational model based on the above scheme, the simulator calculates each
quarter's monthly sales and other business results you manage (revenue, costs, profit, cash flow, simplified balance
sheet).

Besides your own decisions, you will also enter the initial SWOT analysisinto the simulator,and inindividual months the
values that will bebased on your own plan -the planned number of tours per month +5, the planned revenue and costs
for the current month and the planned balance of funds at the end of the month .

In addition, you can also enter an additional requirement text that addresses the negotiations with the game manager.
In this case, you will have to wait for the results to be solved by the game manager. You will automatically receive an
email notification.

During the simulation, attention has to be paid to ongoing results and, on the basis of these, to adjust their decisions -
especially with regard to booking the necessary accommodation capacities and pricing policy (catalog price and last
minute discountinthe relevant months).

Example of the simulation user interface:
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3 DESCRIPTION OF THE INITIAL SITUATION

3.1 Basic economic results after the first year

All revenue of SuperMarketa inthe firstyear came from sales of goods, with the total revenue of CZK 79,182,205. Cost
was higher than revenue throughout the year, and totaled CZK 83,062,350. The result for the whole year was CZK -

3,880,145.The markup was constantat24% inthe firstyear.

The partial earnings, costs and economic results for each quarter are shown in the following graph. The economic result

improved duringthe individual quarters, butdid not reach positivevalueatthe end of the year.

Profit & loss
CZK 30,000,000 B sales
B Total cost
B Profit & loss
CZK 20,000,000
CZK 10,000,000
CZK 0
-CZK 10,000,000
1 2 3 4
Quarter

Not only was the Supermarket for the firstyear ata loss,italsofaces alack of cash flow at the end of the year. For now,
itmaintains a positive balance of funds, but liabilities aregrowing fast - this is dangerous inrelation to suppliers because

they canstop supplyingatanytime ifthe SuperMarketa does not paythem on time.

Cash-flow and liabilites
CZK 60,000,000 CZK 10,000,000

CTH B AT 000

CZK 7,500,000

£ CZK 40,000,000
€
E
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ES
@
g CZK 20,000,000 CZK 2,158/058 CZK 2,566,615
= CZK 2,500,000
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W ncome [l Payments w= Cash == Short-term liabilities

Cash and short-term liabilites
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3.2 Initial investments

SuperMarketa owners have invested CZK 15 million and they expect a return of at least between 10% and 15% of this
investment per year, ie the annual profit after tax should be optimally around CZK 3 million in order to create reserves
andinvestinto future growth.

The SuperMarketa store was purchased as ready from a local developer last year, requiring an investment worth CZK

40,000,000infixed assets in the followingstructure:

= land: CZK 6,000,000
= building:

= movableassetsincl.software:

CZK 28,000,000 with a depreciation for 30 years
CZK 6,000,000 with a depreciation for 5 years

For simplicity, thedepreciation will be calculated as constantinthe amount of CZK 933,000/ year for the buildingandin

the amount of CZK 1,200,000/ year for other movableassets.

3.3 Budget of indirect cost for the last year

It was determined inthe following breakdown:

Type of cost

Plan

Achieved results

Total consumption

CZK 2,650,000

CZK 4,485,000

... promotion

CZK 500,000

CZK 1,400,000

... energy, water and heating

CZK 1,100,000

CZK 1,205,000

... maintenance andservices

CZK 600,000

CZK 980,000

... consumables

CZK 450,000

CZK 900,000

Depreciation

CZK 2,133,000

CzZK 2,133,000

Interest on bankloans

CzZK 2,340,000

CzZK 2,340,000

Personnel costs

CZK 8,000,000

CZK 9,060,000

... management (4)

CZK 2,400,000

CzZK 2,900,000

... sales staff (atthe beginning 18, at the end 22 employees)

CZK 5,600,000

CZK 6,160,000

Deviations between the planandreality were mainly caused by a bad estimate of the number of necessary staff (cashier
+ storers),also paid for original management andinaccurate estimates of operating costs.

3.4 Budget of indirect cost for the next year

Based on the experience from the firstyear of operation, itis possibleto estimate the estimated costfor the second year

as follows:

Type of cost

Plan

Total consumption

.. promotion

must be determined

.. energy, water and heating

CZK 1,200,000

.. maintenance andservices

CZK 1,000,000

.. consumables

CZK 900,000




Jiho¢eska univerzita

v Ceskych Budéjovicich SuperMarketa

University of South Bohemi Simulation game manual
Ceské Budéjovi

Depreciation CZK 2,133,000
Interest on bankcredit must be determined
Personal expenses must be determined
... management must be determined
... shop staff (depending on the number of employees) must be determined

3.5 Direct cost

Direct costincludeacquisition costof purchased goods. This is notjustthe purchaseprice, but alsothe logisticscostthat
increases this price(see Supplies and suppliers). This cost does not arise at the time of purchase, butin the time of sale
of specific goods. Until then, it only determines the stock priceand the total value of inventory expressed in money.

Also, the costs of discounts, losses and theft, which account for about 1.5% of sales - are substantial - in the first year
they amounted to CZK 1,187,733.In the next years,itis alsonecessaryto count with a similar percentageinrelationto
sales.

3.6 Supplies and suppliers

SuperMarketa works with about 25,000 stock items that arestocked inshelves and handling warehouse. Replenishment
of goods from a warehouse is addressed by supermarket employees, so it is included in their wages and does not
separately generate additional costs. Ifan option with the safety stockis chosen, a certain amount of goods is maintained
as a stock for the event of a supply outage.

There aremany availablesuppliers with differentservicelevels (reliability), which arereflected in their prices (1% increase
inservice level = 0.5% increase in purchasing price). Thanks to the use of a wholesale distribution warehouse (DC) and
directdeliveries, the supplies arevery flexible, for examplefor bakery products several times a day, for other goods, from
orderingto the next day, incaseof less frequent goods within 2-3 days.

Lower reliability of supplies can be offset by higher safety stock and vice versa. Standard average reliability of supplies
(servicelevel) was 90% in the firstyear. Inorder to satisfyall supermarketbuyers,a medium level of safety stock should
be used to compensate for this.

Suppliers offer products of varying quality thataffect average purchaseprices as follows:
e |owquality

e medium quality+10%
e high+25%

Overall, suppliers prefer larger chains thathave the chance to achieve higher turnover. Due to the size of the shop, the
purchasepricecan not be expected to be significantly reduced by negotiation.

The variable component of the transport cost is thus already included in the purchase price of the goods, which are
increased accordingly. Logisticsand storagearedependent on the level of safety stockas follows:

safety stocklevel - none: 3% of sales
safety stock level - small (+5% normal inventory): 3.3% of sales,
safety stock level - medium (+ 10% of normal inventory): 3.7% of sales,

safety stock level - high (+ 20% of normal inventory): 4.2% of sales.

The value of inventory in the firstyear was around CZK 5 million. The SuperMarketa had a medium quality of goods
throughout the year, the level of the safety stock was low. Average servicelevel was 90%.
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3.7 Cashflow?

For the operation of a company, itis necessaryto maintaina minimum amount of cashatthe store atalevel of atleast
CZK 400,000. This was the caseinthe lasttwo quarters lastyear. This amount of money is reserved, other free funds are
always used to pay outstandingliabilities, unused funds remain in the bank account, and if they are sufficient, they can
be used to reduce the amount of bank credit.

The maturity of new accounts payableis on average one month, receivables from customers are collected practically
immediately.

3.8 Loan

SuperMarketa was granted a loan of CZK30 million atthestartofits business.Atthe beginning of this year, itis still wo rth
of CZK 28 million. The maturity of this loanis 15 years, the principalisrepaid after quarters in theamount of CZK 500,000,
the interest is repaid at the same interval based on the interest rate of 8% pa. This interest rate is fixed for the entire
period of repayment of the loan.

The loan is primarily intended for the partial financing of fixed assets and is secured by a lien on the property of
SuperMarketa. This lien can be canceled only after repayment of the loan on the basis of negotiations with the bank.

The bank has also agreed to the possibility of one further increase of the loan in the case of a good profitability
development under similar conditionstoits initialarrangement, ieanincrease of CZK 3,000,000, at 8% pa, with quarterly
repayments of principalamountingto CZK 50,000.

3.9 Personnel

SuperMarketa is managed by the management, which is responsible to the owners. Store management is in charge of
marketing, financial, supply and personnel decisions.

Personal management cost for the first year of operation of the supermarket was CZK 2,900,000 including 34% of the
employer's contribution to socialand healthinsurance.

The shop itself employs 7 full-time cashiers and other 12 employees serve customers, handle goods, deal with
maintenance etc. The remaining 3 employees are in charge of administration, especially orders, stock-keeping and
accounting. There were initially less employees but four new were recruited for operational reasons to ensure twelve
hours of opening hours.

Personnel cost for these employees in the past year amounted to CZK 6,160,000, including 34% of the employer's
contribution to the social and health insurance. For one employee, these costs now amount to CZK 280,000 / year,
including 34% of the employer's social and healthinsurance contribution.

Moreover, the original management has not been very successful in working with staff, so corporate cultureis relatively
weak. At the same time, wages arenot at a level that the employees could be satisfied with.

Currently, part-time employees are already employed and sointhe future itcan not be expected that their number could
increasesignificantly, or thatthey could allowa reductioninstaff costs.

3.10 Market and marketing

Market in which SuperMarketa operates is saturated and with a relatively strong competition.

3 Cashflow expresses the flow of money in the company -ie income and expenditure over a certain period of time. In
principle, every month you need to pay outstanding liabilities - source for that is either a financial balance from the
previous period or the currentincome. If we do not have sufficientfunds, unpaidliabilities areincreasingandifthey are
not paid for more than three months, creditors canfilea claimforinsolvency proceedings and force the company to quit.

10
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3.10.1 Demand side of the market - consumers and their segments

The relevant potential market represents 40,000 households, which on average spend around CZK 54,500 annually on
the range of goods that SuperMarketa offers. Their total expenditures and hence the financial volume of the market in
one calendaryearis CZK2.18 billion. Marketshare of SuperMarketa for the firstyear was about 4.5%.

The market has been stagnatingin terms of volume over the long-term, with seasonality ranging between 88%and 113%

of the average quarterly volume of purchases (seechartbelow).

Index of demand seasonality

15

1.25 e
= 0.98 1/
[:=]
§ 1 0.88
g ——
[#5]
0.75
0.5
2 3 4
Quarter

There are three segments on the market - higher class (51), middle class (S2) and lower class (S3). These segments are
geographically distributed evenly throughout the catchment area of the shop and their share of the total populationis as
follows:

e S1-20%
e S2-40%
e S3-40%

These segments differin purchasing power. Whilethe S3 segment spends an average of CZK47,350a year,itis CZK 58,821
for segment S2 and CZK 68,713 for the segment S1.

When choosinga placeto buy, households areaffected by the followingfactors:

= pricelevel, assortment qualityand appearanceofthe store due to their preferences,
=  promotion effects - the strength of the actionis relativeto the promotion of competition.

Segment S3 prefers the lowest price, segment S2 prefers the best value-for-money, and S1 prefers the best available
quality. Interms of quality, not onlyis the quality of assortment important, but also the appearance of the store and its
sufficient service (operational) capacity. For example, long queues at cash registers will discourage primarily S1 and S2
segments.

3.10.2 Supply side of the market - competitors

At the retail market in Ceske Budejovice with daily and frequent consumptionitems, these companies currently have a
significantmarket position:

*= Arnold (1 hypermarket, 3 supermarkets) - market shareof 23%

= Global (1 hypermarket) - market shareof 21 %

= Disco (1 hypermarket, 1 convenience store) - market shareof 18%
= Riedl (2 discountstores) - market shareof 12%

= SuperMarket (1 supermarket) - market shareof 4.5%

The rest of the market is fragmented with a larger number of small retail outlets (market shareof 21.5%).

11
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Due to your focus on daily and frequent consumption items, there is no competition from onlinestores within the given
time horizon of this simulation.

Retailer profile - Arnold

This Dutch chain has entered the Czech market as the firstforeign one in the 1992. It has partially boughtoriginal retail
network from the Communist era, rapidly gaining a strong position. However, the inadequacies of original o utlets and
late responses to other competitors have led to losses and decreased competitiveness.

At present, ithas a chainof 80 stores throughout the Czech Republicand is more profiled as a supplier of better quality
goods. Supplyatits supermarkets is at a higher pricelevel, and thisis alsothecasefor alarger range of services.

In Ceské Budé&jovice Arnold has one hypermarket and three supermarkets, making it locally the most important
competitor interms of turnover.

The Arnold chainis currently being consolidated, further expansion can not be ruled out, but due to the problems of the
parent organizationinthe Netherlands, itis likely thatthe positive economic outcomes of the existing network of stores
are likely to be demanded, soitis possibleto expect closing of the non-profitablestores.

The reaction of this company to local competitionis restrained.

Promotion focuses on communication of quality, prices and services. It can be estimated that the average cost of
promotion per store amounted to CZK 1.5 millioninthepastyear.

Retailer profile - Global

This German chain entered the Czech market in 1996. It was the firstone to introduce the hypermarket concept here. In
Ceske Budejovice, the hypermarket was opened in2003.

Global currently operates 15 major hypermarkets, which are primarily profiled by the range of products, additional
services and the emphasis on better goods. Global was the last of major retailers in the Czech Republic to introduce
privatebrands.

The reaction of this company to local competitionis restrained.
Promotion focuses on communication of quality, prices and services. The promotion costs could not be determined.
Retailer profile - Disko

British company Disco entered the Czech market ten years ago. Aggressive pricing, rapid expansion and acquisitions of
other chains haveledto the establishmentof a network of 106 stores (hypermarkets, discounts) geographically covering
virtually thewhole territory of the Czech Republic, thus becoming the number one inthe retail market.

The year 2010 was especially important for the company, as it achieved for the first time a positive economic result of
CZK 26 million. Expansion has also been completed this year, and the company has announced that itwill not build any
other retail outlets in the Czech Republic and will focus primarily on streamlining operations and lowering prices for
customers.

Discois currently profiting primarily fromlow pricestrategy. This is related to both the privatebrands andlimited depth
of the assortment, and only basic services thatareexpanding over time.

The company applies an aggressive policy in relation to significant competition for it, and closely follows the prices of
others, to whichitresponds strongly by changingthe prices of its own. Both at the Czech andlocal levels.

As partof the promotion, it focuses primarily on priceand new services. The promotion costs could not be determined.
Retailer profile - Riedl

The German company Riedl entered the Czech market 8 years agoand has built11 stores consistently each year according
to a uniformconcept, currently 88. Geographically, thesestores are located almostall over the Czech Republic. This firm
is goingto definitely continue expanding, even though it's a question whether inthe same pace.

The economic results and any further information this company can only be estimated to have been in profitfor several
years.Corporate cultureis certainly notata high level here, as evidenced by a number of scandalsabouttheintimidation
and humiliation of employees as appeared inthe media.
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As far as the market profileis concerned, it is a hard discount chain. The assortment is very shallow and everything,
including privatebrands and services, is tailored to minimize costs and pricing.

The reaction of this company to competition is not easily foreseeable, sometimes it reacts aggressively, sometimes not
atall.

As part of the promotion, itfocuses primarily on pricecommunications and special thematic events. It can be estimated
that the average costof promotion at the store amounted to CZK 1.6 millioninthepastyear.

Independent stores

Independent outlets are quite different from each other, but they are not able to achieve prices such as bigger retail
chains,sotheir pricelevel is on average higher.

Their reaction to competition is completely fragmented and without a major effect on the market as a whole, promotion
has purelylocal implications.

3.10.3 Marketing mix

Within the productpolicy, the quality level and composition of the assortmentare based on the shop profile, however it
can be changed. SuperMarket has been focused primarily on the S2 consumer segment from the outset, resulting in a
medium level of quality.

Product policy also relates to the appearance of store and services that may lead to differentiation from competition,
however, atthe expense of increased cost.

The price level of the assortment can be arbitrarily adjusted according to the management's decision - this decision
depends on the markup. The initial average markup is 24%, which corresponds to the previous year, when the
SuperMarketa tried to penetrate the market with the best ratio of quality and price.

Store locationis fixed and can not be changed.

Promotion strengthens the image of the merchant and helps to attract customers to the store, so as a result, it
strengthens the impactof customer decisions based on price and quality. At the same time, the power of promotionis
always relativeto competition, soif everyone does the same, the effect will remain the same as well.

The level of promotion is fully dependent on management's decision. However, itis necessarytorealize that the volume
of sales dependence on the promotion is not linearanditis alsorelativethe the competition effort strength.

Lastyear, CZK 1.4 million was devoted for promotion. It was mainly the distribution of advertising leaflets, billboards and
local advertising on the radio when opening the store.
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3.11 Initial financial statements

3.11.1 Profit & loss statement for the year 1

SuperMarketa
Simulation game manual

P&L Statement CzK
Product sales 79,182,205
Cost for purchasing goods 63,856,617
Margin 15,325,588
Inventory losses 1,187,733
Gross profit 14,137,855
Store employee costs 9,060,000
Store maintenance and improvements 980,000
Water, electricity and heating 1,205,000
Consumables 900,000
Marketing cost 1,400,000
EBITDA 592,855
Depreciation 2,133,000
EBIT -1,540,145
Interest 2,340,000
Income tax 0
EAT -3,880,145
Dividends 0
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3.11.2 Balance sheet for the end of year 1

SuperMarketa

Simulation game manual

Balance Sheet CzK
Total assets 47,793,744
Land and buildings 34,000,000
Machinery and equipmentincl. software 6,000,000
Depreciation -2,133,000
Property and equipment, net 37,867,000
Cash 4,601,618
Stock 5,325,126
Accounts receivable 0
Total current assets 9,926,744
Total liabilities and owner’s equity 47,793,744
Owner’sequity 15,000,000
Profit & loss from previous years 0
Thisyear profit & loss -3,880,145
Paid dividends and income tax 0
Total owner’s equity 11,119,855
Long-termbankloans 28,000,000
Accounts payable 8,673,889
Total liabilities 36,673,889
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4 GAMEPLAY

This business simulation gameis divided into several parts:

1. Division of roles and team work

Introductory situation analysis

Definition of objectives and preparation of plan

Setting the decision for the individual steps of the game and analyzing the results

vk v

Final report elaboration

In the following section, these sections will be described in more detail, including examples that can be used for the
decision-making.

4.1 Division of roles and team work

Successful mastering of this game lies not only in the right decision but also in teamwork. Team management and work
is therefore an essential partofsuccess.

To organizethe team work, itis essential to assignroles thatcorrespond with skillsand ambitions of each team member.

Generallyspeaking, it can be said fromexperience that roles can be either assigned from the point of view of functional
areas or skills. Functionalroles arerooted in differentareas thatneed to be addressed inthe company.In principle, these
are:

Leadership as a whole, team organization and final decision-makingin case of team conflict.
Operations management - staff, supply.

Financial management - profitability, cash flow, company financingstructure.
Marketing management - targeting, attractiveness for customers, marketing mix.

The second optionis the rolespecialization setaccordingto the activities and skills of the team members:

® Leadershipand team organization.
e Analytical activities (planning, calculations).
e Collectinginformation, supporting other team members (minutes of meetings, preparation of documents).

The following principles arerecommended for team work:

e The team leaderisresponsiblefor organizingtheteam's work - thatis, planningthe meetings and their content,
dividingthe work between the team members and setting deadlines.

e Each meeting of the team takes a record of the points discussed and assigns tasks to the individual employees
accordingtotheir roles.

e The division of work in the team should corres pond to the participants' skills, on the one hand, and the goal
should be aneven burden.

e Team members informeach other as soonas possibleaboutthe complicationsinvolved in performingthe tasks
to avoid unnecessary delays.

e Communicationshouldbe clear and effective, everyone should understand what is expected of them.

Partial task:

Distributeroles inthe team and clarify whateach team member is expected to do. Prepare the firstminutes of meeting
accordingtothe above rules.
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4.2 Introductory situation analysis

The purpose of situation analysisis to focus on how the managed company works, what it does and how external
influences affectit. It consists of analyses of the internal environment and the external environment, which will then be
linked together inthe so-called SWOTanalysis.

There are several approaches to analyzethe external environment, such as PESTLE or Porter's model of five forces. Apart
from external environment analyses, itis alsonecessarytolookat how a managed company operates - particularly from
the point of view of the financial performance, availableresources, product portfolio and staff.

These analyses can be quite extensive and demanding, so the followingtemplate can beused to simplify them. It includes
various questions aboutinternal and external factors. These includeanseverity ratingon a scale of -5 to +5, where -5is
avery serious negativeimpactand +5 is a very significant positiveimpactof the factor.

Therefore, itis advisable to think about how to work with them (examples see the table below), identify priorities and
consider possible impacts. Not everything needs to be addressed, sometimes it is meaningful to undertake the risk
associated with it.

The table gives examples of possible solutions to problems, and not only their effect, but alsothe costs and risks
associated with them.

Factors for SWOT analysis

Internal factors Rating (-5 to5) [(Why? How do you plan to respond?

How is a company Examples:
performing economically

(profitability)? Whereis itin
relation to the break-even Increase sales, ie attracting new

Price increase / decrease.

point? customers or increasing your existing
customers' spend.

Cost reduction.
Does the company have Examples:
ici i ?
sufficientfunds available? Hold part of profit.

Increase debts.

How is the company Examples:
interesting for investors / Improve profitability.
bankers?
Decrease debts.
Secure loans using fixed assets.
Does the company have Examples:

sufficient capacity to meet Increase / reduction of staff.

demand?
Investments in new capacity-
enhancing technologies.

Is the company sufficiently Examples:

equipped for future

devel 2 Investment into technology and
evelopment?

personnel (education,
entrepreneurship support).

What is the position of the Examples:

company with customers?
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Improving awareness (marketing
communication).

Better customization of the marketing
mix to customers.

Cooperation and mergers.

Whatis the company's
position with suppliers?

Examples:
Improving payment morale.

Increase volume of purchases.

Are the products of the
company competitive?

Examples:
Product innovation.
Reducing / increasing prices.

Extend / narrow the portfolio of
products.

Cooperation.
How does the company Examples:
assumeits risks?

Insurance.

Improve security.
Timely response to changes.
Sufficient reserves.

Crisis planning.

External factors

Can competition be
exacerbated / weakened?

Examples:

Focus on poorly satisfied market
segments / niches.

Using the opportunity to weaken
competition.

Creating barriers for new entrants (eg
aggressive prizes).

Defense of market share.
Improving competitiveness.

Cooperation.

Can demand growth grow /
fall?

Examples:
Customizing capacities and costs.

Connect with competitors.

Is there a room for new
customers on the market?

Examples:

Extension of geographical scope.

Using new distribution channels.
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Strengthening your own capabilities.

Can regulatory changes be Examples:

expected inthe business

. Creating reserves.
environment?

Changing processes and investing in
new information system.

Can vendor pricechanges be Examples:
?

expecteds Rising prices.

Optimizing additional costs.

Changing the vendor portfolio.

Can fluctuations in exchange Examples:
rates be expected? .
Creating reserves.
Natural hedging.
Exchange rate hedging.

Changing the vendor portfolio.

Are there other opportunities
andthreats? For example,
new technologies, subsidies,
geopolitical risks, etc.

Because it is a game in which the rules must be the same for all to have the results comparabl e, there will be some
simplifications and differences from the real world. So, to avoid suggesting something that is not feasible in the game,
here are examples:

® You can not change the business model - that is to use existing premises for completely different business
purposes.

e Store premises cannot be leased to other entities.

® As a part of this business, it is not possibleto have an online store, especially due to relatively significant
investments in logistics.

e Demand and competition are defined here for the game only,so itis strictly necessary to usethis document for

the situation analysis, notthe situation onthe real market.

On the other hand, there are a number of factors that can be based on reality and can be considered in the game -
especiallyinthearea of macro-environment, it might be possibleto find grant programs that can be beneficial.Insucha
case,itis necessarytodiscussa specificintention with the game leader who decides on a specificimplementation.

Sub-task:

Inthe team, prepare the situational analysis and summarizeits conclusions. Whatareyour mostimportant opportunities
and threats? Which factors are your strengths and weaknesses? What is their importance? And how would you | ike to
respond to them?

After creatinganinitial situational analysis, it is advisable to return to it periodically, for example in the interval of each
year, because the situationis constantly changing.
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4.3 Defining goals and preparing the plan

The primary purpose of each business is to generate profits. Therefore, even when determining specific goals, it is
appropriateto startwith the expectations of business owners about profitability. This may vary dependingon their long-
term intentions - for example, if they want to sell the business in the future, they may not want to pay regularly. But
usually theowners expect that their shareof the profitina certainamount will be paid eachyear.

The simplest approach to determining the specific amount of expected earnings is to take into account the amount of
the investment that the owners have put into the enterprise, and, if necessary, the valuation of their further efforts (if
they work for the enterprise).

Inthe caseof the SuperMarketa itis possibleto proceed as follows:

1. We will find out how much money have owners invested into the company (see Balancesheet, owners’ equity
of CZK 15 million).

2. We will determine the expected rate of return on the investment - usuallyabout10-15% per annum. This rate
of return should respect business risk, therefore it should be higher than for less risky investments, for example
when depositing money ina bank.

3. l.e. owners shouldearna profitshareof atleastaboutCZK 1.5-2.25 million per year.

Sinceonly profitafter tax can be split, the minimum profit before tax on income tax of 19% must be adequately
higher. In this caseapproximately between CZK 1.9 and 2.8 million.

5. At the previous point, we determined the amount of profit before tax if we only wanted to satisfy the owner
and payincometax. However, we sometimes need to generate profits also for reserves, reducinglong-term debt
and future investment. Therefore, it would be realisticto aimto earn at least about CZK 5-6 million in pre-tax
profitper year.

After setting the target for profitability, itis appropriate to set additional measurable targets that will help to better
manage the business. Examples of such goals areas follows:

e Marketing goals - revenue, market share and market position, customer attractiveness, customer satisfaction,
claimrate.

e Financial targets - margins, indebtedness, amount of costs, overdue liabilities, average maturity to suppliers,
costof capital.

e Goals in the field of operation - capacity utilization, availability of goods, reliability of suppliers, turnover,
sufficientstaff, employee satisfaction.

These targets can be set, for example, on the basis of the previous achievement values, with the aim of maintainingthem,
or improvingthem adequately. If we planto improve, then we need to work out how this improvement will beachieved.
This is usually not without side effects, such as increasing certain types of cost, or needing to adjustinternal processes
and procedures.

For example, if we want to increase revenue, we should know how we'll do it - we'll try to get more customers with
enhanced marketing communications (ieincreased costs), lower prices (ie reduce our margin), or increase capacity in
caseof sufficientdemand (again withincreased costs)?

There should be not too many basic goals, itis good to concentrate on the most important ones, which should not be
more than 3 - 4 for each of the above mentioned areas.

Sub-task:

Inthe team, discussthe situation analysis and determine:
1) What goals do make sense for business management?
2) How canthese goals beexpressed and measured?

3) What arethe expected values of these goals?

4) When is the goal to be achieved?

5) How canthese goals beachieved?

—_— — — —
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Defining objectives and formulating strategies to achieve them can not be successfully implemented without a clear
definition of the relevant market and the choice of appropriate market targeting. This choiceshouldagain bebased on
situation analysis and understanding of the market structure and behaviour - both demand (customers) and supply
(competitors).

In principle, we can choose from a few basic options - we can either try to reach the whole market with a single product
offer (acceptablecompromiseforall) or we specializein marketsegments, respectively. niches thatare large enough and
economicallyinteresting for us, reachableand s significantly different from others.

Segmentation or niche market specialization makes the most sensein situations where competition is strong and, for
example, has a cost advantage based on economy of scale - our competitive advantage can not therefore be ata better
price and we need to avoid a price confrontation. However, the disadvantage of this strategy may be higher costs
associated with adaptingthe marketing mix.

In the caseof the SuperMarketa, itis therefore possibletochoose either a target market option where there is a trade-
off between the offered quality and the price, so that the offer is attractive to all segments - ie, medium quality goods
and well-managed costs to make the pricecompetitive. Or, itis possibleto specializeinthe lucrative but small segment
S1. Or vice versa, for the S3 segment, for which the lowest priceis key (which again needs to be subordinated to the
lowest cost).

Partial Task:

Choose the most appropriate market targeting based on your situation analysis and core business goals. Under this
selection, estimate the size of the relevant market (in CZK / year).

Obviously, setting realistic goals and planning based on this is not possible without careful thinking and economic
calculations that will make possible to verify whether the real values of the objectives are realisticand not conflicting
with one another. For these reasons, we will now focus on the basic economic calculations needed for planning.

As has been said, the enterprise's goal is to generate profit, ie the positive difference between revenue and cost. To
achieve the same level of profit, we can therefore, depending on the company's situation, arrive at their different
combinations - for example, high revenue and, similarly, higher costs of achieving that, or vice versa.

Because we are trying to plan here, we always work with estimates. Nobody can accurately predict the future. So, itis
not important to have entirely accurate quantification of revenue and cost. We can do a lot of work with the
precautionary principle - instead of a complex calculation that is accurate but very demanding for information and
processing, we will make an approximate estimate that is slightly higher for costs and lower for revenue. If we can be
satisfied with the resulting profiteven insucha situationitis enough for quick verification and planning.

An example may be personnel costs.Inreality, their calculationisrather complex - there are holidays, differentovertime
allowances, weekends and public holidays, etc. For planning purposes, it is therefore more appropriate to work with
slightly higher wage rates.

Because both the revenue portion of the planandthe cost portion of the planareinterconnected, it is good to approach
them inplanningas suchand create a simplemodel, preferablyin a spreadsheet calculator (eg MS Excel). Such a model
will then allow to simply examine what impacts various changes will have - by changing the selected parameters, the
model is recalculated and we immediately see the impact of the changes.

How, then, should we proceed to create such a model? Perhaps the simplestapproachis the gradual refinement of the
followingrelationship to calculate the profit:

S
1+m

PL = §—

- FC

where PL is the profit & loss, Sis the sales of goods, m is the average markup to purchase prices and FCis fixed cost
Variable cost is expressed here from the total sales and average markup (formula S /1 + m). Everything is always
expressed for the same period. For a plan of this type, the one-year period is most often used, but itcan also be done
with shorter periods, such as quarters.Inthe casewhen revenue is not only generated by the sales of goods, itwould be
necessary to add other types of revenue and associated costs to the formula.

Let's try to show it on a concrete example based on the management of the SuperMarketa for the firstyear. If we
expected the second year to look exactly the same as the firstone, we can expect annual sales of goods of CZK 79 million,
an average markup of 24% (this means the variablecostof acquisition of goods of about CZK 64 million)and fixed costs
were 19 million.Onceithas been put into the formula,itwill yield a profitofless than4 million crowns asitactually was.
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Ina spreadsheet calculator, a similar model may look like this (Table of formulas available here):

A. Determining the planned profit or loss

We need to know inadvance:

... Revenue forecast 79,000,000.00 CZK
... Fixed costfor the one year period 19,000,000,00 CZK
... Average markup in % 24,00%

Can be calculated:

... Marginin % of revenue 19,35%
... Forecastof variablecost 63,709,677.42
... Forecastof profit & loss -3709677,42 K¢

As can be seen, variable costs are involved, which represent onlythe directcosts of acquiring goods. Therefore, they are
linearly dependent on the volume of sales. However, there may be situations where other types of costs will depend on
the volume of sales. An example could be revenue commissions, or revenue-related damage to goods. Then the solution
is to extend the above formula accordingly, for example, as follows:

S

PL =S§S———
1+ m

—crxS —FC
where cr is the commission rate (eg 0.03 for commission 3% of sales). Fixed cost (FC) then represents all other costs
outsidethe variablecostofgoods and commissions.

A certain problemin determining revenue forecasts is thatthe expected returns depend on other management decisions
and the market situation - for example, how high we set prices or how much we investin marketing communications.
Therefore, itis appropriateto use the historicalvalueatthe beginning, which decreases or increases inrelation to other
factors.Inthis case, therevenue from the previous year can betaken as the basic value, adjusted according to the market
situation andinvestment in marketing communication.

Given a higher price sensitivity of demand due to strong competition, then a 1% increasein price can be expected to
reduce the amount purchased by more than 1%. The sale price then consists of the purchase price plus the markup, ie
we increase the surcharge by 1 percentage point (eg from 24% to 25%), itis notan increase of a full percentage (if the
purchasepriceis CZK 100, thenitis this increased the pricefrom 124 to 125 CZK, ie by 0.8%). Under otherwise unchanging
conditions, we canexpect a very modest drop inrevenue (e.g., afew tenths of a percent). In fact, this relationshipis of
course a little more complicated because each segment responds to a price change with a different sensitivity, but for
rough estimationit should be enough.

In the caseof a marketing communication budget, the estimate of the effect is more complex because this relationship
is not linear.However, itcan be said thatifthe marketing communication budget is about the level of competition, the
demand will bestandard, if this expenditureis double, thedemand will beabout20% higher and ata maximum of 4 times
the increase,ie35% increasein demand.

Therefore, ifwe want to perform the revenue forecastin the best possibleway, itis not enough to determine onlythe
basicvalue, but we should adequately reconcileits valuewith the aforementioned decisions and the fixed cost budget,
especially thevolume of marketing communications. Again, we can use the precautionary principleand assume weaker
positive effects and stronger negative effects.

Usingthis considerationinthe tableabove, we canassumethat anincrease in the marketing budget of CZK 500,000 per
year will,in otherwise unchanged terms, increasesales by 20%. Therefore, if we change the revenue forecastas well as
fixed costs appropriately, we can easily verify how much this change will move us toward our goal. As you can see, this
has improved, but not enough, compared to the previous one. So we should look for further adjustments to the decision
that will bring us closer to the target.
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A. Determining the planned profit or loss

We need to know inadvance:

... Revenue forecast 94,800,000.00 CZK
... Fixed costfor the one year period 19,500,000.00 CZK
... Average markup in % 24,00%

Can be calculated:

... Marginin % of revenue 19.35%
... Forecastof variablecost 76 451612.90 CZK
... Forecastof profit & loss -1151612.90 CZK

In determining the detailed plan (budget) of fixed (indirect) costs we have to proceed ina different way. These costs do
not depend directly on the volume of revenue, soitis necessary to divide them into individual items (for example, the
SuperMarketa has already been listed above). Therefore, their valueis based onthe objectives of the company, required
capacityand need to ensure the operation - costs of personnel, consumables, energy, water, heating, rent, depreciation
of fixed assets, loaninterest,insurance, service costs (marketingcommunication).

For the sakeof clarity,itis advisableto have individualitems of fixed costs ina separatetable.

The amount of fixed costs can usually beinfluenced by the management's decision,sothe costs arenot constantand the
same over time. For example, staff cost depends on the management's decision, how many employees the company
should have, what positions,and whatwages should be paidto them. These costs will bebased on the company's needs
to ensure a certain amount of traffic and the labour market situation. Therefore, it makes sense to have more employees
in periods with high demand for capacity,ieat high seasonal demand, than in periods of low demand. If we do not have
enough capacity, we canlimitourselves.

The budget for marketing communication is usually set by management as well each year atits discretion to meet the
communication goals - the higher budget will be used in a situation where there is a need to boost sales or to prevent
competition, ie we want to achieve its positive effect on sales . And this positive effect should bring us more than the
increased costinvolved (here, if we increaseoursales by CZK 1,000, we alsoautomaticallyincreasethe variable costof
goods acquisition,ata markup of 24% by 806 CZK -ieif we have put 100 CZKin marketing communication, we will increase
profit, if we have put more than CZK 194 init, it will leadtoa loss.

Partial Task:

Develop a model for calculating the planned profitbased on revenue estimates, average markups, and fixed cost budget,
followingthe core business objectives. Use this model to verify the realistic achievement of the target profit, preferably
for 5 years of simulation, so you can gradually refineitaccordingto the results you have achieved.

If we have to deal with a higher level of risk and uncertainty, itis also useful to work with a pessimistic and optimistic
scenarios.These scenarios can be based, for example, on a certain percentage of reduced /increasedsales, or changes
inthe amount of selected costs.

In principle, if there is at least some gain in the pessimistic scenario, we are moving in relatively safe areas. If the
pessimisticscenarioleadstolosses, greater cautionis needed when setting and tracking some parameters.

From the point of view of company survival, notonly profitis essential, butalso sufficient cash-flow. Insolvencyis one of
the basic problems thatleads to business bankruptcy.In order to prevent cash-flow problems, itis therefore appropriate
to analyzecash-flowseparatelyand assess potential dangers.

For cash-flowcalculation, itisfirstand foremostnecessary to determine how revenue differ from income and costdiffers
from expenditure. Very often there is a time gap between them.
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Income represents all payments we receive in cash or through a bank account during a given time period. Income will
therefore includerevenue from customers but may also be increased by loans or owners’ equity increase.

Expenditure represents all the payments we pay for the periodin question. This mayinclude reimbursements to suppliers,
repayment of the loan, payment of the share of profit or income tax. Not all expenditures have to be costin the same
time period. For example, in the case of acquisition of long-term assets, only depreciation enters the costin one year.
The loan principal paymentis notcostatall, that's justinterest. And the payment of profitandincome taxis notcost too.

Expenditure for a given period may be higher than earnings onlyif we have a sufficientfund balanceat the beginning of
the period (cash). This is also one of the ways to address short-term cash-flow problems - if there is enough long-term
capital asareserve, short-termincome outages will notjeopardize us. This applies onlyifthecompanyis ableto generate
profitand there is no risk ofincurring unpaid receivables (secondary insolvency).

This long-term capital can be earned in a number of ways - long-term loan, raising the capital (owner's contribution), or
creatingand retaining partof the profit, which usually takes longer.

To find out the necessaryreserves, itis advisableto make a basic plan -to identify all future receipts and expenditures
for the given period, for example, inthe followingway (in CZK thousand):

1stquarter 2nd quarter 3rd quarter 4th quarter
Balanceatthe beginning 2,000 2,500 3,500 2,500
Total income 15,000 20,000 22,000 26,000
Total expenditure 14,500 19,000 23,000 25,500
Balanceatthe end 2,500 3,500 2,500 3,000

Income should befurther refined and related to the forecastof sales andincrease of the long-term loan or owner capital.
Expenditure shouldinclude,in a more detailed form, payments for purchases of fixed assets, goods and services (trade
payables), remuneration of staff, interest and principal amounts, payment of profitand income taxes.

At the sametime, itis clear thatfull reimbursementis only possibleif we have sufficientfunds (start-up balance +earnings
for the period). If, therefore, a negative balancehad been made at the end of this calculation,itmeans thatthe company
lacks long-termcapital and would need to increaseitaccordingly,ielimitand shiftsomespendingto the future.

Sub-task:

Process the cash-flowplanatleastfor the firstyear of operation. Identify the need for long-term capital and resources.

4.4 Setting the decision for the individual steps of the game and analyzing the results

Itis veryimportantinthe decision makingprocess to think about their alighment and understanding of their impacts on
the business. It caneasily happenthatsome decisions will be conflictingand will go againsteach other. We have already
shown this in marketing communications, butthe same is true for other decisions and theirimpacts, as can beseen from
the followingexamples:

e Few employees canreduce capacityandrevenue if demand is higher than capacity.
e Too many employees will increasecosts and unused capacity.
e The low wage of employees will lead to their low satisfaction and higher exit rates, which may lead to the lack

of necessary staff.
e Missing employees can be compensated either by raising wages or by increasing the target number of

employees, but this leads to higher fluctuations.
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e Insufficientavailability of goods at the store can be offset by a higher insurancesupply with lower reliability of
supplies.
If we do not have enough goods, we canreduce our sales in caseof higher demand.
If we want to keep our sales on the rise, we need to compensate for the cost of reward - for example, by
strengthening marketing communication. However, it alsohas its limitsand does not work linearly.

e A change in the quality of the goods leads to changes in purchase prices, ie the same price increases
automatically.Similarly, this is also thecasewith a change in the level of insurancestock.

e Focusonindividual segments should be attractive, but each segment reacts differently.

e |f the enterprise does not have sufficient funds, the old unpaid obligations are growing. If there were two
consecutiveyears, there would be a penalty due to insufficientcash-flow.

e The dividend policy is set at 30% of the profit after tax, which does not mean that negotiations can not be

changed if necessary, especiallyinthecaseof cash-flow problems.

When making decisions, beware of misspellings, such as numbers of zeros in entered numbers. The softwarechecks the
admissibility of the inputvalues, but not the correctness.

Simulator Technical Information

To get a simulator on your computer, you will receive an internet link to fill in with a Google account to which the
simulator willbe made available. Decisionsandresults arethen accessed ona computer with internet access anywhere.

The computer version of the simulatoris placedinthe window to the right (see the followingfigure), the firsttime you
need to start, you have to click on the button Enter decisions and confirm the assignment of the rights so that the
simulator works properly.Intheright-hand window below, another button Send and move to the next quarter> to confirm
andsend the decision.

Inthe decision makingwindowthere are also other items that need to be filledin:

e Additional requirement - Allows you to insert a textual description of the additional requirement for the game
manager beyond the standardized decisions.|f somethingis filled in this field, the results will only be calculated
after the manager has resolved this requirement. Usage applies to all cases where management can negotiate
setting other parameters - such as projection of additional costs, use of subsidies, change of credits, increase of
registered capital,changeof dividend policy or discounts fromsuppliers.

e Planned revenue and planned cost - here arevalues of the plan, which are then displayed for comparisoninthe
charts. These values do not affect the results. For a given period, values should always be entered from an
updated planratherthan aninitial one.

e Planned cash balance - here is an estimate of the amount of cashatthe end of each period from the cash-flow
plan. Again, it's just information and graphical. For a given period, values should always be entered from an
updated planratherthan aninitial one.

Once the decision has been sent, if no additional requirement has been entered, the results for the period are
immediately calculated and available. These are availableboth inthe form of a spreadsheet on thesheet Simulator and
inthe form of graphs on the other sheets (Graph R and C vs plan, Graph C Structure, Chart PLvs plan, Cash-flow vs. plan
chart).

At the same time, if a major change occurs inthe gameplay scenario (for example, a change in the macro environment
or customers or competitors), the simulator generates an email with this i nformation to the participants and sendsitto
them. Similarly,the alertemail is senteven when the game manager handles the additional request.

You should onlysend a decision fromone computer ata time, otherwise you may find that the form above shows you a
different current quarter than it actuallyis.To validatethe current quarter for which the decisionis beingentered, itis
possibleto click on the button Enter decisions againandthe window will be updated.
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SWOT analysis is entered into a computer simulator also, the table is available on the sheet SWOT analysis. What is
inserted into this table does not affect the results, the data arelisted there for information onlyto be inone place.

Analysis of achieved results

The firststep in the analysisofresults should be to find out the achieved results (sheet Simulator), compare them with
the plannedvalues and analyzethe deviations.

The results include non-financial indicators that suggestthe attractiveness of individual customer segments compared to
other competitors (values <1 indicatea lack of appeal for the segment), problems with employees (missing employees)
and availability of goods for customers (Availability of products at the store).

Furthermore, there arefinancialindicators - the structure of revenue and cost (simplified profit & loss statement), income
and expenditures (simplified cash-flow statement) and balancesheet (assets and liabilities), all complemented by further
selected profitability and liquidity ratios.

If there are differences between planand results achieved,itis good to examine indetail the reasons why ithappened.
The most often difference may be between planned and real revenue which also automatically results in variance in
variablecosts.Causes can be, for example:

Not taking seasonalityintoaccount
Poor estimation of influence of changes of other factors - prices, marketing communication
Unexpected changes inthe market

Calculationerror

Similarly, attention needs to be paidto deviations inthe fixed cost and cash-flow budget.

Anyway, if any bigger deviation occurs, it should lead to a revision of the plan. Deviations are a source of better
understanding - they indicatewhat we have missed out and what we need to improve when planningor understanding
the impactof various factors.
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Partial Task:

Analyze the variancein the team and summarize its conclusions. What caused the deviations? What remedies can you
do inthe future? How will your plan changeinto the future?

Review of situation analysis

Apart from the analysis of the results achieved, itis also appropriate to review the situation analysis and its objectives
and measures atleastonceinthe simulated year.Usually, itdoes notchangemuch, butat times itis necessary to respond
to significant changes both in terms of the internal situation of the company and of the external micro and macro
environment.

Task:

Ina team, review the situation analysis and summarizeits conclusions. Whatareyour most importantopportunities and
threats? Which factors areyour strengths and weaknesses? Whatis theirimportance? And how are you going to respond
to the situation?

4.5 Final report elaboration

After completing the game, itis advisabletothink about the whole process and evaluate your performance, not onlyin
relation to the results of the managed enterprise but also the team work.

The final reportshould be structured as follows:

1. Introduction of the team and definingthe roles

Outputs of the situation analysisand recommendations for further development of the company

Decisions andresults,includinga comparison of the planand a description of changes compared to the plan
Evaluation of results (profitability, cash-flow)

Specific evaluation of each team members (strengths and weaknesses)

o vk wnN

Self reflection
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